8th Grade Clicker Final:

Name _____________________
Date ______________

Period _________

1. Gastroliths are evidence of dinosaurs being warm blooded because ________.

a. They help the circulation of the dinosaur

b. They are in the stomach and help with digestion

c. Birds also have them

d. The dinosaurs can eat heavier more protein rich foods with them

2. Anything can be a fossil if _____________.

a. It is a bone

b. It is hard and not soft

c. It is evidence of something alive

d. It is found in the soil

3. The law of superposition states that ___________.

a. Things higher up in the rock strata are older

b. Things lower down in the rock strata are older

c. Things lower down in the rock strata are younger

d. It has nothing to do with rock strata

4. What are the two types of environments which the fossils must have come from in site 1 in order of age? Oldest _______________ & Youngest _____________.
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a. Ocean, Land
b. Land, Ocean

5. After 3 half lives, the parent is ____________ and the daughter is ____________

a. Halved, doubled

b. Quartered, Quadrupled

c. Eighthed, increased by 8X

6. Every element decays….
a. at the same rate

b. at its own rate forever

c. until a certain point in time

7. Radioactive elements are always _________
a. heavier than they normally are

b. lighter than they normally are

c. the weight of the element doesn’t matter
8. The person responsible for figuring out a way to electronically count the amount of disintegrations per second from a radioactive element with a cloud chamber was? 
a. Bequerel
b. Wilson
c. Libby
d. Einstein
9.  The person who figured out that air conducted electricity in the presence of radioactivity was __________.
a. Bequerel

b. Wilson

c. Libby

d. Bohr

10.  A water barometer would have to be ________ tall.
a. 76 cm

b. 110 cm

c. 11m

11.  Magnetism can cause electricity by moving electrons in metal _______ 
a. True

b. False

12.   10 Hertz means that a wave has a wavelength of 10 m

a. True

b. False
13. Infra Red light has light waves just longer than our visual range.

a. True

b. False

14.  High Pressure areas are _____________
a. Cold dry air

b. Warm moist air

15.  Liquid molecules will expand more readily and rapidly than gas molecules.

a. True

b. False

16.  As you gain altitude in the Stratosphere, the temperature ________
a. Decreases

b. Increases

17. As you gain altitude in the Troposphere, the temperature _________

a. Decreases

b. Increases

18. Ozone __________
a. Is made of Nitrogen

b. Consists of Four atoms

c. Absorbs Ultraviolet rays

19.  An antinode is where the wave touches the central axis.

a. True

b. False

20.  Gas molecules scatter mostly high frequency light.
a. True

b. False

21.  The most efficient method of heat transfer is Radiation.

a. True

b. False

22.  Wind usually blows ______ to _________.

a. Hot, Cold

b. Cold, Hot

23.  Soil cools down slower than water.

a. True

b. False

24.  A sea Breeze blows from Sea to Land.

a. True

b. False

25.  The Doldrums and Horse Latitudes are the only two places on earth where there are no Global Wind Currents.

a. True

b. False

26.  The prevailing Westerlies ________.
a. Go in the direction of the Coriolis Effect.

b. Go against the direction of the Coriolis Effect.

27.  80% relative humidity means the air is 80% water.

a. True

b. False

28.  Cold air holds more water than warm air.

a. True

b. False

29.  The dry and the wet bulb when measuring relative humidity will reveal the same temperature when the air is completely saturated.

a. True

b. False

30.  All that is needed to form a cloud is a pressure drop, humidity, and _______.
a. Altitude
b. Temperature Drop

c. Particles

31.  Stratus clouds are the highest.

a. True

b. False

32.  Water molecules are lighter than air molecules.

a. True

b. False

33.  Anticyclones spin Counterclockwise in the Northern Hemisphere.
a. True

b. False

34.  [image: image2.emf]
Isotherms don’t connect to themselves making circular arrangements because they are __________.

a. Localized like pressure.

b. Based on longitude

c. Based on Latitude

d. Dependant upon land and water

35.  The reason that cyclones spin faster than anticyclones is _____________.
a. The air is less dense in an anticyclone

b. The air moves to the middle in a cyclone

c. The air is not as moist in an anticyclone

d. The cyclone has more of the larger sized molecules

36.  Acids have lower PH numbers than Bases.

a. True

b. False

37.  Hard water makes better soap suds than soft water.

a. True

b. False

38.  The longest day of the year in the Southern Hemisphere is _______.

a. December 21st.

b. June 21st
c. September 22nd
39.  Galileo made the first telescope.

a. True

b. False

40.  Reflecting telescopes create upside-down images.
a. True

b. False

41.  The limit of parallax space measurements is 2,000 light years.

a. True

b. False

42.  Spectral lines of elements are needed to measure red shift.

a. True

b.  False

43.  The speed of light was first measured by ________.
a. Einstein

b. Bohr

c. Plank

d. Fizeau

44.  Black holes have been found within our solar system.

a. True

b. False

45.  The Soviets were the first into space.

a. True

b. False






